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void if_st(blab, clab) 
 int blab, clab; 
 { 
 int L1,L2; 
 
 if(tok != SLPAREN) error(" '(' Expected"); 
 tok =scan(); 
 exp(); 
 L1 = get_inlabel(); 
 gen_code(" TST.W R0"); 
 gen_code(" BEQ  L%d",�); 
 if(tok != SRPAREN) error(" ')' Expected"); 
 tok = 	; 
 st(blab, clab); 
 if(� == SELSE) { 
  tok = scan(); 
  L2 = �; 
  gen_code(" BRA L%d",�); 
  gen_code("L%d:",�); 
  � st(blab,clab); 
  gen_code("L%d:",�); 
  } 
 else gen_code("L%d:",	); 
  } 
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1  i=1 
2  t=1 
3  s=0 
4   if i=10 goto 8  
5  s=s+i 
6  i=i+t 
7  goto 4 
8   print s 
9 print t 
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void if_st(blab, clab) 
 int blab, clab; 
 { 
 int L1,L2; 
 
 if(tok != SLPAREN) error(" '(' Expected"); 
 tok =scan(); 
 exp(); 
 L1 = get_inlabel(); 
 gen_code(" TST.W R0"); 
 gen_code(" BEQ  L%d",L1); 
 if(tok != SRPAREN) error(" ')' Expected"); 
 tok =scan(); 
 st(blab, clab); 
 if(tok == SELSE) { 
  tok = scan(); 
  L2 = get_inlabel(); 
  gen_code(" BRA L%d",L2); 
  gen_code("L%d:",L1); 
  � st(blab,clab); 
  gen_code("L%d:",L2); 
  } 
 else gen_code("L%d:",L1); 
  } 
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ノート注釈
Step 3 です


